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III. Reading Comprehension (%8 2 4~ 3 10%)

31 32 33 34 35

B  C| B | A

IV ~ Blank-filling (84 1 4~ » 3 10%)

%1 Generally speaking
37 as soon

38 Weather permitting
39 In spite

0. take granted

V ~ Composition (20%)
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1.(1)
(35) 0.4 mol
1.(2)
(35) 0.6 atm
2.
45) 15.0M
3. 100 %,
(445)
4 50 mL
(447)
3.(I) 25%10°
3 4)
3.(2) 73(.3) mL
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(1) %% % (neiosis)

1 (2) DNA # % (duplication)

(3) 418 : 22N

(4) AAUGAGUCAUAG

2 (5) #4%%(transcription)

(6) ASN—Glu—Ser

(7) % st(nephron)

3 (8) ¥ ; #3IK 32 (glomerulus)

(9) ByE/ERA (filtration) s F T
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(11) ¥ ; pr3L(endosperm)
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